

1-1-2018

Pythagorean triples containing generalized Lucas numbers

ZAFER ŐAR

REFİK KESKİN

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

Recommended Citation

ŐAR, ZAFER and KESKİN, REFİK (2018) "Pythagorean triples containing generalized Lucas numbers," *Turkish Journal of Mathematics*: Vol. 42: No. 4, Article 28. <https://doi.org/10.3906/mat-1702-102>
Available at: <https://journals.tubitak.gov.tr/math/vol42/iss4/28>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact academic.publications@tubitak.gov.tr.

Pythagorean triples containing generalized Lucas numbers

Zafer ŞİAR^{1,*} , Refik KESKİN² 

¹Department of Mathematics, Faculty of Arts and Sciences, Bingöl University, Bingöl, Turkey

²Department of Mathematics, Faculty of Arts and Sciences, Sakarya University, Sakarya, Turkey

Received: 22.02.2017

Accepted/Published Online: 30.04.2018

Final Version: 24.07.2018

Abstract: Let P and Q be nonzero integers. Generalized Fibonacci and Lucas sequences are defined as follows: $U_0(P, Q) = 0, U_1(P, Q) = 1$, and $U_{n+1}(P, Q) = PU_n(P, Q) + QU_{n-1}(P, Q)$ for $n \geq 1$ and $V_0(P, Q) = 2, V_1(P, Q) = P$, and $V_{n+1}(P, Q) = PV_n(P, Q) + QV_{n-1}(P, Q)$ for $n \geq 1$, respectively. In this paper, we assume that P and Q are relatively prime odd positive integers and $P^2 + 4Q > 0$. We determine all indices n such that $U_n = (P^2 + 4Q)x^2$. Moreover, we determine all indices n such that $(P^2 + 4Q)U_n = x^2$. As a result, we show that the equation $V_n^2(P, 1) + V_{n+1}^2(P, 1) = x^2$ has solution only for $n = 2, P = 1, x = 5$ and $V_{n+1}^2(P, -1) = V_n^2(P, -1) + x^2$ has no solutions. Moreover, we solve some Diophantine equations.

Key words: Generalized Fibonacci and Lucas numbers, Diophantine equations

1. Introduction

Let P and Q be nonzero integers. Generalized Fibonacci and Lucas sequences are defined by

$$U_0(P, Q) = 0, U_1(P, Q) = 1 \text{ and } U_{n+1}(P, Q) = PU_n(P, Q) + QU_{n-1}(P, Q) \text{ for } n \geq 1$$

and

$$V_0(P, Q) = 2, V_1(P, Q) = P \text{ and } V_{n+1}(P, Q) = PV_n(P, Q) + QV_{n-1}(P, Q) \text{ for } n \geq 1$$

respectively. $U_n(P, Q)$ and $V_n(P, Q)$ are called n -th generalized Fibonacci numbers and n -th generalized Lucas numbers, respectively. Sometimes, instead of $U_n(P, Q)$ and $V_n(P, Q)$, we will use U_n and V_n , respectively. Generalized Fibonacci and Lucas numbers for negative subscripts are defined as $U_{-n}(P, Q) = -(-Q)^{-n}U_n(P, Q)$ and $V_{-n}(P, Q) = (-Q)^{-n}V_n(P, Q)$ for $n \geq 1$. If $P = Q = 1$, we have classical Fibonacci and Lucas sequences (F_n) and (L_n) .

In this paper, we assume that P and Q are relatively prime odd positive integers, and $P^2 + 4Q > 0$. We determine all indices n such that $U_n = (P^2 + 4Q)x^2$. Moreover, we determine all indices n such that $(P^2 + 4Q)U_n = x^2$. In [2], Bicknell shows that if $(n, k) = 1$, there are no solutions in positive integers to the equation $U_n^2(P, 1) + U_k^2(P, 1) = x^2$, $n > k > 0$, when P is odd and $P \geq 3$. Furthermore, when $P = 1$, he gives some results on the equation $F_n^2 + F_k^2 = x^2$ in [1], and he shows that $L_n^2 + L_k^2 = x^2$, $n > k > 0$, has the unique solution $n = 3, k = 2$, or the triple $3 - 4 - 5$. He also considers the equations $F_n^2 - F_k^2 = x^2$ and $L_n^2 - L_k^2 = x^2$.

*Correspondence: zsiar@bingol.edu.tr

2010 AMS Mathematics Subject Classification: 11B37, 11B39

Here we show that the equation $V_n^2(P, 1) + V_{n+1}^2(P, 1) = x^2$ has a solution only for $n = 2, P = 1, x = 5$, forming the triple $3 - 4 - 5$. Furthermore, we show that the equation $V_{n+1}^2(P, -1) = V_n^2(P, -1) + x^2$ has no solutions.

2. Preliminaries

We begin by listing the properties concerning generalized Fibonacci and Lucas numbers, which will be needed later.

$$(P^2 + 4Q)U_n = V_{n+1} + QV_{n-1}, \tag{1}$$

$$U_{2n} = U_n V_n, \tag{2}$$

$$V_{2n} = V_n^2 - 2(-Q)^n \tag{3}$$

for all natural number n .

$$\text{If } n \geq 1, \text{ then } (U_n, V_n) = 1 \text{ or } 2. \tag{4}$$

$$\text{If } n \text{ is odd, then } V_n \equiv (-Q)^{\frac{n-1}{2}} P \pmod{P^2 + 4Q}. \tag{5}$$

$$\text{If } n \text{ is even, then } V_n \equiv 2(-Q)^{\frac{n}{2}} \pmod{P^2 + 4Q}. \tag{6}$$

All the above properties are well known (see [7, 8, 10–12]).

Now we give some theorems and lemmas, which will be used in the proofs of the main theorems. The proofs of the following two theorems are given in [12].

Theorem 1 *Let $n, m \in \mathbb{N} \cup \{0\}$ and $r \in \mathbb{Z}$. Then*

$$U_{2mn+r} \equiv (-(-Q)^m)^n U_r \pmod{V_m} \tag{7}$$

and

$$V_{2mn+r} \equiv (-(-Q)^m)^n V_r \pmod{V_m} \tag{8}$$

such that $mn + r \geq 0$ if $Q \neq \pm 1$.

Theorem 2 *Let m be a positive integer, $n \in \mathbb{N} \cup \{0\}$, and $r \in \mathbb{Z}$. Then*

$$U_{2mn+r} \equiv (-Q)^{mn} U_r \pmod{U_m} \tag{9}$$

and

$$V_{2mn+r} \equiv (-Q)^{mn} V_r \pmod{U_m} \tag{10}$$

such that $mn + r \geq 0$ if $Q \neq \pm 1$.

The proofs of the following theorem and two lemmas can be found in [9].

Theorem 3 *If $V_n = x^2$, then $n = 1, 3$, or 5 , and if $V_5 = x^2$, then $Q \equiv 3 \pmod{8}$. If $V_n = 2x^2$, then $n = 0, 3$, or 6 .*

Lemma 4 *Let m be an odd positive integer and $r \geq 1$. Then*

- a) If $3|m$, then $V_{2^r m} \equiv 2 \pmod{8}$.
- b) If $3 \nmid m$, then $V_{2^r m} \equiv \begin{cases} 3 \pmod{8} & \text{if } r = 1, \text{ and } Q \equiv 1 \pmod{8}, \\ 7 \pmod{8} & \text{otherwise.} \end{cases}$

By the above lemma, it is seen that

$$\left(\frac{2}{V_{2^r}}\right) = \begin{cases} -\left(\frac{-1}{Q}\right) & \text{if } r = 1, \\ 1 & \text{if } r \geq 2, \end{cases} \tag{11}$$

and if $3 \nmid m$, then

$$\left(\frac{-1}{V_{2^r m}}\right) = -1 \tag{12}$$

for $r \geq 1$.

Lemma 5 *Let r be a positive integer. Then*

- (i) $\left(\frac{Q}{V_{2^r}}\right) = \left(\frac{-1}{Q}\right)$,
- (ii) if $r \geq 3$, then $\left(\frac{V_2}{V_{2^r}}\right) = \left(\frac{-1}{Q}\right)$,
- (iii) $\left(\frac{U_3}{V_{2^r}}\right) = \begin{cases} -\left(\frac{-1}{Q}\right) & \text{if } r = 1, \\ 1 & \text{if } r \geq 2, \end{cases}$
- (iv) $\left(\frac{P^2+3Q}{V_{2^r}}\right) = \begin{cases} \left(\frac{-1}{Q}\right) & \text{if } r = 1, \\ 1 & \text{if } r \geq 2. \end{cases}$

The following lemma can be proved by induction.

Lemma 6 *Let $r \geq 2$. If r is even, then $V_{2^r} \equiv Q^{2^{r-1}-1}U_3 \pmod{U_5}$, and if r is odd, then $V_{2^r} \equiv -Q^{2^{r-1}-1}V_2 \pmod{U_5}$.*

Lemma 7 *If n is an even positive integer, then $V_n \equiv 2Q^{\frac{n}{2}} \pmod{P^2}$ and if n is an odd positive integer, then $V_n \equiv nPQ^{\frac{n-1}{2}} \pmod{P^2}$.*

The following lemma can be proved by induction on r .

Lemma 8 $V_{2^r} \equiv 2Q^{2^{r-1}} \pmod{P^2 + 4Q}$ for all integer $r \geq 2$.

Using the above lemma, it can be shown that

$$\left(\frac{P^2 + 4Q}{V_{2^r}}\right) = -1 \tag{13}$$

for $r \geq 1$.

Lastly, we can obtain the following lemma from [4].

Lemma 9 *If n is an even positive integer, then $U_n \equiv (n/2)P(-Q)^{\frac{n-2}{2}} \pmod{D^2}$ and if n is an odd positive integer, then $U_n \equiv n(-Q)^{\frac{n-1}{2}} \pmod{D^2}$, where $D = P^2 + 4Q$.*

3. Main theorems

Lemma 10 *Let $r \geq 2$. Then $\left(\frac{U_5}{V_{2r}}\right) = \begin{cases} +1 & \text{if } r \text{ is even and } Q \equiv 3, 7 \pmod{8}, \\ -1 & \text{otherwise.} \end{cases}$*

Proof Firstly, assume that $Q \equiv 1, 5 \pmod{8}$. Then $U_5 = P^4 + 3P^2Q + Q^2 \equiv 2 + 3Q \equiv 5, 1 \pmod{8}$. If r is even, it follows that

$$\left(\frac{U_5}{V_{2r}}\right) = \left(\frac{V_{2r}}{U_5}\right) = \left(\frac{Q}{U_5}\right) \left(\frac{U_3}{U_5}\right) = \left(\frac{U_3}{U_5}\right)$$

by Lemma 6. Moreover, since $U_5 \equiv -Q^2 \pmod{U_3}$ and $U_3 = P^2 + Q \equiv 2, 6 \pmod{8}$, it is seen that

$$\left(\frac{U_3}{U_5}\right) = \left(\frac{2}{U_5}\right) \left(\frac{U_3/2}{U_5}\right) = \begin{cases} -\left(\frac{U_5}{U_3/2}\right) = -\left(\frac{-1}{U_3/2}\right) = -1 & \text{if } Q \equiv 1 \pmod{8}, \\ \left(\frac{U_5}{U_3/2}\right) = \left(\frac{-1}{U_3/2}\right) = -1 & \text{if } Q \equiv 5 \pmod{8}. \end{cases}$$

If r is odd, then

$$\left(\frac{U_5}{V_{2r}}\right) = \left(\frac{V_{2r}}{U_5}\right) = \left(\frac{-1}{U_5}\right) \left(\frac{Q}{U_5}\right) \left(\frac{V_2}{U_5}\right) = \left(\frac{U_5}{V_2}\right) = \left(\frac{-1}{V_2}\right) = -1$$

by Lemma 6 and (12). Now assume that $Q \equiv 3, 7 \pmod{8}$. Then $U_5 = P^4 + 3P^2Q + Q^2 \equiv 2 + 3Q \equiv 3, 7 \pmod{8}$. If r is even, it follows that

$$\left(\frac{U_5}{V_{2r}}\right) = -\left(\frac{V_{2r}}{U_5}\right) = -\left(\frac{Q}{U_5}\right) \left(\frac{U_3}{U_5}\right) = \left(\frac{U_3}{U_5}\right)$$

by Lemma 6. Furthermore, since $U_3 = P^2 + Q \equiv 0, 4 \pmod{8}$, we write $U_3 = 2^k t$ for some odd positive integer t with $k \geq 2$. Let $k = 2$. Then $Q \equiv 3 \pmod{8}$ and thus

$$\left(\frac{U_5}{V_{2r}}\right) = \left(\frac{U_3}{U_5}\right) = \left(\frac{t}{U_5}\right) = (-1)^{\frac{t-1}{2}} \left(\frac{U_5}{t}\right) = (-1)^{\frac{t-1}{2}} \left(\frac{-1}{t}\right) = 1$$

since $U_5 \equiv -Q^2 \pmod{U_3}$. Let $k > 2$. Then it can be seen that $Q \equiv 7 \pmod{8}$ and therefore $U_5 \equiv 7 \pmod{8}$.

This implies that $\left(\frac{2}{U_5}\right) = 1$. Hence, whether k is odd or not, we get

$$\left(\frac{U_5}{V_{2r}}\right) = \left(\frac{U_3}{U_5}\right) = \left(\frac{t}{U_5}\right) = (-1)^{\frac{t-1}{2}} \left(\frac{U_5}{t}\right) = (-1)^{\frac{t-1}{2}} \left(\frac{-1}{t}\right) = 1.$$

If r is odd, then

$$\left(\frac{U_5}{V_{2r}}\right) = -\left(\frac{V_{2r}}{U_5}\right) = -\left(\frac{-1}{U_5}\right) \left(\frac{Q}{U_5}\right) \left(\frac{V_2}{U_5}\right) = -\left(\frac{V_2}{U_5}\right)$$

by Lemma 6. Since $U_5 \equiv -Q^2 \pmod{V_2}$, it follows that

$$\left(\frac{U_5}{V_2}\right) = -\left(\frac{V_2}{U_5}\right) = \left(\frac{U_5}{V_2}\right) = \left(\frac{-1}{V_2}\right) = -1.$$

This completes the proof. □

Theorem 11 *If $U_n = (P^2 + 4Q)x^2$ for some integer x , then $(n, P, Q, x) = (5, 1, 1, 1)$.*

Proof Assume that $U_n = (P^2 + 4Q)x^2$. Since $(P^2 + 4Q) | U_n$, it follows that $(P^2 + 4Q) | n$ by Lemma 9. If $Q \geq 1$, it is obvious that $P^2 + 4Q \geq 5$, i.e. $n \geq 5$. If $Q = -1$, then, since $P^2 - 4 > 0$ and P is odd, it follows that $n \geq P^2 - 4 \geq 5$. If $Q \leq -3$, then it is seen that $P^2 + 4Q \geq 5$. If $n = 5$, then $P^2 + 4Q = 5$ since $(P^2 + 4Q) | 5$. Thus

$$\begin{aligned} U_5 &= P^4 + 3P^2Q + Q^2 = (P^2 + 4Q)(P^2 - Q) + 5Q^2 = 5x^2 \\ &= 5(P^2 - Q) + 5Q^2 = 5x^2 \end{aligned}$$

and from here, using the equality $P^2 + 4Q = 5$, we get

$$P^2 - Q + Q^2 = x^2,$$

or

$$5 - 5Q + Q^2 = x^2. \tag{14}$$

Completing the square gives $(2Q - 5)^2 - (2x)^2 = 5$. Hence we get $x = 1$ and $Q = 1$ or $Q = 4$. However, since Q is odd, it follows that $Q = 1$ and therefore $P = 1$. Let $n > 5$. Now assume that n is odd. Then we can write $n = 8q \mp 1$ or $n = 8q \mp 3$ for some positive integer q . Assume that $n = 8q \mp 1$. Thus

$$(P^2 + 4Q)x^2 = U_n = U_{8q \mp 1} \equiv (Q^{4q}) \text{ or } (Q^{4q-1}) \pmod{V_2}$$

by (7). Using Lemma 5 and (13), we get either

$$1 = \left(\frac{P^2 + 4Q}{V_2} \right) = -1,$$

which is impossible, or

$$1 = \left(\frac{P^2 + 4Q}{V_2} \right) \left(\frac{Q}{V_2} \right) = - \left(\frac{-1}{Q} \right),$$

which is impossible for $Q \equiv 1, 5 \pmod{8}$. Therefore, $Q \equiv 3, 7 \pmod{8}$ and $n = 8q - 1$. If we write $n = 2(2^r z) - 1$ for some odd positive integer z with $r \geq 2$, then it follows that

$$(P^2 + 4Q)x^2 = U_n = U_{2(2^r z) - 1} \equiv -Q^{2^r z - 1} \pmod{V_{2^r}}$$

by (7). Using (12), Lemma 5, and (13), we get

$$1 = J = \left(\frac{-1}{V_{2^r}} \right) \left(\frac{P^2 + 4Q}{V_{2^r}} \right) \left(\frac{Q}{V_{2^r}} \right) = \left(\frac{-1}{Q} \right) = -1,$$

which is impossible. Assume that $n = 8q \mp 3$. If $n = 8q + 3$, then

$$(P^2 + 4Q)x^2 = U_n = U_{8q+3} \equiv Q^{4q}U_3 \pmod{V_2},$$

and if $n = 8q - 3 = 2(2^r z) - 3$ for some odd positive integer z with $r \geq 2$, then

$$(P^2 + 4Q)x^2 = U_n = U_{2(2^r z) - 3} \equiv -Q^{2^r z - 3}U_3 \pmod{V_{2^r}}$$

by (7). Using (12), Lemma 5, and (13), from the above two congruences, we get either

$$1 = J_1 = \left(\frac{P^2 + 4Q}{V_2}\right) \left(\frac{U_3}{V_2}\right) = \left(\frac{-1}{Q}\right)$$

or

$$1 = J_2 = \left(\frac{-1}{V_{2r}}\right) \left(\frac{Q}{V_{2r}}\right) \left(\frac{P^2 + 4Q}{V_{2r}}\right) \left(\frac{U_3}{V_{2r}}\right) = \left(\frac{-1}{Q}\right),$$

which is impossible for $Q \equiv 3, 7 \pmod{8}$. Now let $Q \equiv 1, 5 \pmod{8}$. If we write $8q \mp 3 = 8a \mp 5 = 2(2^r z) \mp 5$ for some odd positive integer z with $r \geq 2$, then

$$(P^2 + 4Q)x^2 = U_n = U_{2(2^r z) \mp 5} \equiv \left(-Q^{2^r z} U_5\right) \text{ or } \left(-Q^{2^r z - 5} U_5\right) \pmod{V_{2r}}$$

by (7). Using (12), Lemma 5, Lemma 10, and (13), it follows that

$$1 = J_1 = \left(\frac{P^2 + 4Q}{V_{2r}}\right) \left(\frac{-1}{V_{2r}}\right) \left(\frac{U_5}{V_{2r}}\right) = -1$$

or

$$1 = J_2 = \left(\frac{P^2 + 4Q}{V_{2r}}\right) \left(\frac{-1}{V_{2r}}\right) \left(\frac{Q}{V_{2r}}\right) \left(\frac{U_5}{V_{2r}}\right) = -\left(\frac{-1}{Q}\right) = -1,$$

which are impossible.

Now let n be even. Then $n = 2m$ for some positive integer m , and thus $(P^2 + 4Q)x^2 = U_n = U_m V_m$ by (2). By (5) and (6), it is seen that $(P^2 + 4Q, V_m) = 1$, and thus $x^2 = (U_m / (P^2 + 4Q)) V_m$. From here, we obtain $V_m = u^2$ and $U_m = (P^2 + 4Q)v^2$ or $V_m = 2u^2$ and $U_m = 2(P^2 + 4Q)v^2$ for some integers u and v since $(U_m, V_m) = 1$ or 2 by (4). If $V_m = u^2$ and $U_m = (P^2 + 4Q)v^2$, then $m = 1, 3$, or 5 by Theorem 3. Since $(P^2 + 4Q) | U_m$, it follows that $P^2 + 4Q | m$ by Lemma 9 and therefore $m \geq P^2 + 4Q \geq 5$. If $m = 5$, then $(n, P, Q) = (5, 1, 1)$ and so $u^2 = V_5 = 11$, which is impossible. If $V_m = 2u^2$ and $U_m = 2(P^2 + 4Q)v^2$, then $m = 3$ or 6 by Theorem 3. Similarly, it can be seen that $m = 6$ and so $n = 12$. Thus $(P^2 + 4Q)x^2 = U_{12} = U_3 V_3 V_6$ by (2). Since $(P^2 + 4Q, V_3) = (P^2 + 4Q, V_6) = 1$ by (5) and (6), it follows that $P^2 + 4Q | U_3$ and so $(P^2 + 4Q) | 3$ by Lemma 9. This is impossible since $P^2 + 4Q \geq 5$. This completes the proof. \square

Theorem 12 *If $(P^2 + 4Q)U_n = x^2$ for some integer x , then $n = 5$, $P^2 + 4Q = 5u^2$, $P^4 + 3P^2Q + Q^2 = 5v^2$ for some integers u and v , and $Q \equiv 1 \pmod{8}$.*

Proof Assume that $(P^2 + 4Q)U_n = x^2$. It can be easily shown that this is impossible for $n \leq 4$. If $n = 5$, then $(P^2 + 4Q)(P^4 + 3P^2Q + Q^2) = x^2$. It can be seen that $(P^2 + 4Q, P^4 + 3P^2Q + Q^2) = 1$ or 5 , and thus

$$P^2 + 4Q = u^2 \text{ and } P^4 + 3P^2Q + Q^2 = v^2 \tag{15}$$

or

$$P^2 + 4Q = 5u^2 \text{ and } P^4 + 3P^2Q + Q^2 = 5v^2 \tag{16}$$

for some integers u and v . If (15) is satisfied, then $u^2 = P^2 + 4Q \equiv 5 \pmod{8}$, which is impossible. Therefore, $P^2 + 4Q = 5u^2$, $P^4 + 3P^2Q + Q^2 = 5v^2$, and it is obvious that $Q \equiv 1 \pmod{8}$. Now assume that $n > 5$. A

similar argument to the proof of the previous theorem shows that n cannot be odd. Let n be even. Then $n = 2m$ for some positive integer m and thus $x^2 = (P^2 + 4Q)U_{2m} = (P^2 + 4Q)U_m V_m$. Since $(P^2 + 4Q, V_m) = 1$ by (5) and (6), it follows that $((P^2 + 4Q)U_m, V_m) = 1$ or 2 by (4). This implies that either

$$V_m = a^2 \text{ and } (P^2 + 4Q)U_m = b^2 \tag{17}$$

or

$$V_m = 2a^2 \text{ and } (P^2 + 4Q)U_m = 2b^2 \tag{18}$$

for some integers a and b . If (17) is satisfied, then $m = 1, 3,$ or 5 by Theorem 3. It can be seen that (17) is possible for only $m = 5$. This implies that $P^2 + 4Q = 5u^2$ and $P^4 + 3P^2Q + Q^2 = 5v^2$. Also $Q \equiv 3 \pmod{8}$ by Theorem 3 and therefore $5v^2 = P^4 + 3P^2Q + Q^2 \equiv 3 \pmod{8}$. This shows that $v^2 \equiv 7 \pmod{8}$, which is impossible. If (18) is satisfied, then $m = 3$ or 6 by Theorem 3. If $m = 3$ or 6 , then $(P^2 + 4Q)U_3 = 2b^2$ or $(P^2 + 4Q)U_3V_3 = 2b^2$, and thus $P^2 + 4Q = r^2$ or $P^2 + 4Q = 3r^2$ since $P^2 + 4Q$ is odd, $(P^2 + 4Q, V_3) = 1$ and $(P^2 + 4Q, U_3) = 1$ or 3 . This shows that $r^2 \equiv 5 \pmod{8}$ or $r^2 \equiv 7 \pmod{8}$, which is impossible. This completes the proof. \square

Now we can give the following corollary, which shows that the consecutive two generalized Lucas numbers except $V_2(1, 1)$ and $V_3(1, 1)$ cannot be sides of a right-angled triangle.

Corollary 13 *If $Q = 1$, then the equation $V_n^2 + V_{n+1}^2 = x^2$ has a solution only for $n = 2$, $P = 1$, $x = 5$, forming the triple $3 - 4 - 5$.*

Proof Assume that $Q = 1$ and $V_n^2 + V_{n+1}^2 = x^2$. Then, using (1) and (3), it is seen that $(P^2 + 4)U_{2n+1} = x^2$. Thus $n = 2$, $P^2 + 4 = 5u^2$ and $P^4 + 3P^2 + 1 = 5v^2$ for some integers u and v by Theorem 12. With MAGMA [3], we get $n = 2$, $P = 1$, $x = 5$, forming the triple $3 - 4 - 5$. This completes the proof. \square

Corollary 14 *If $Q = -1$, then the equation $V_{n+1}^2 - V_n^2 = x^2$ has no solutions.*

Proof Assume that $Q = -1$ and $V_{n+1}^2 - V_n^2 = x^2$. Then, using (1) and (3), it is seen that $(P^2 - 4)U_{2n+1} = x^2$. Thus $n = 2$, $P^2 - 4 = 5u^2$ and $P^4 - 3P^2 + 1 = 5v^2$ for some integers u and v by Theorem 12. With MAGMA [3], we get $P = 2$, which is impossible since P is odd. This completes the proof. \square

3.1. Solutions of some Diophantine equations

In [6], the authors have given all integer solutions of the equations $x^2 - Pxy - y^2 = \pm(P^2 + 4)$ and $x^2 - Pxy + y^2 = -(P^2 - 4)$ when $(P^2 \pm 4)$ is square free. In this section, when r is odd, we give all positive integer solutions of the equations $x^2 - Pxy^2 - y^4 = \pm(P^2 + 4)^{2r}$, $x^4 - Px^2y - y^2 = \pm(P^2 + 4)^{2r}$, $x^2 - Pxy^2 + y^4 = (P^2 - 4)^{2r}$, and $x^4 - Px^2y + y^2 = (P^2 - 4)^{2r}$. Before it, we will give several theorems from [6](see also [5]).

Theorem 15 *All nonnegative integer solutions of the equations $x^2 - (P^2 + 4)y^2 = 4$ and $x^2 - (P^2 + 4)y^2 = -4$ are given by $(x, y) = (V_{2n}(P, 1), U_{2n}(P, 1))$ with $n \geq 0$ and $(x, y) = (V_{2n+1}(P, 1), U_{2n+1}(P, 1))$ with $n \geq 0$, respectively.*

Theorem 16 *Let $P > 3$. Then all nonnegative integer solutions of the equation $x^2 - (P^2 - 4)y^2 = 4$ are given by $(x, y) = (V_n(P, -1), U_n(P, -1))$ with $n \geq 1$.*

Using the above two theorems, we obtain the following lemmas. Since the proofs of the following two lemmas can be easily done by induction, we omit their proofs.

Lemma 17 *Let $r \geq 0$ and $P^2 + 4$ be a square-free integer. All nonnegative integer solutions of the equations $x^2 - Pxy - y^2 = (P^2 + 4)^{2r}$ and $x^2 - Pxy - y^2 = -(P^2 + 4)^{2r}$ are given by $(x, y) = ((P^2 + 4)^r U_{2n+1}(P, 1), (P^2 + 4)^r U_{2n}(P, 1))$ with $n \geq 0$ and $(x, y) = ((P^2 + 4)^r U_{2n+2}(P, 1), (P^2 + 4)^r U_{2n+1}(P, 1))$ with $n \geq 0$, respectively.*

Lemma 18 *Let $r \geq 0$, $P > 3$, and $P^2 - 4$ be a square-free integer. All nonnegative integer solutions of the equation $x^2 - Pxy + y^2 = (P^2 - 4)^{2r}$ are given by $(x, y) = ((P^2 - 4)^r U_{n+1}(P, -1), (P^2 - 4)^r U_n(P, -1))$ with $n \geq 0$.*

Now, as an application of Theorem 11, we can give the following corollaries.

Corollary 19 *Let $r \geq 1$ be an odd integer and $P^2 + 4$ be a square-free integer. All nonnegative integer solutions of the equation $x^2 - Pxy^2 - y^4 = -(P^2 + 4)^{2r}$ are given by $(x, y, P) = (8 \cdot 5^r, 5^{(r+1)/2}, 1)$.*

Proof Assume that $r \geq 1$ is an odd integer, $P^2 + 4$ is a square-free integer, and $x^2 - Pxy^2 - y^4 = -(P^2 + 4)^{2r}$. Then $y^2 = (P^2 + 4)^r U_{2n+1}(P, 1)$ with $n \geq 0$ by Lemma 17. This shows that $U_{2n+1}(P, 1) = (P^2 + 4) (y/(P^2 + 4)^{(r+1)/2})^2$ since r is odd. By Theorem 11, it follows that $n = 2$, $P = 1$, and $y^2 = 5^{r+1}$, and so we get $(x, y, P) = (8 \cdot 5^r, 5^{(r+1)/2}, 1)$. This completes the proof. □

We can give the following corollary easily by using Lemma 17.

Corollary 20 *Let $r \geq 1$ be an odd integer and $P^2 + 4$ be a square-free integer. All nonnegative integer solutions of the equation $x^4 - Px^2y - y^2 = (P^2 + 4)^{2r}$ are given by $(x, y, P) = (5^{(r+1)/2}, 3 \cdot 5^r, 1)$.*

Corollary 21 *Let $r \geq 1$ be an odd integer and $P^2 + 4$ be a square-free integer. Then the equation $x^2 - Pxy^2 - y^4 = (P^2 + 4)^{2r}$ has no integer solutions.*

Corollary 22 *Let $r \geq 1$ be an odd integer and $P^2 + 4$ be a square-free integer. Then the equation $x^4 - Px^2y - y^2 = -(P^2 + 4)^{2r}$ has no solutions.*

Corollary 23 *Let $r \geq 1$ be an odd integer, $P > 3$, and $P^2 - 4$ be a square-free integer. Then the equation $x^4 - Px^2y + y^2 = (P^2 - 4)^{2r}$ has no integer solutions.*

Proof Assume that $r \geq 1$ is an odd integer, $P > 3$, $P^2 - 4$ is a square-free integer and $x^4 - Px^2y + y^2 = (P^2 - 4)^{2r}$. Then $x^2 = (P^2 - 4)^r U_{n+1}(P, -1)$ with $n \geq 0$ or $x^2 = (P^2 - 4)^r U_n(P, -1)$ with $n \geq 0$ by Lemma 18. This shows that $U_{n+1}(P, -1) = (P^2 - 4) (x/(P^2 - 4)^{(r+1)/2})^2$ since r is odd, which is impossible by Theorem 11.

Similarly, one can see the following corollary from Lemma 18.

Corollary 24 *Let $r \geq 1$ be an odd integer, $P > 3$, and $P^2 - 4$ be a square-free integer. Then the equation $x^2 - Pxy^2 + y^4 = (P^2 - 4)^{2r}$ has no integer solutions.*

References

- [1] Bicknell-Johnson M. Pythagorean triples containing Fibonacci numbers: solutions for $F_n^2 \pm F_k^2 = K^2$. *Fibonacci Quart* 1979; 17: 1-12.
- [2] Bicknell-Johnson M. Addenda to Pythagorean triples containing Fibonacci numbers: solutions for $F_n^2 \pm F_k^2 = K^2$. *Fibonacci Quart* 1979; 17: 293.
- [3] Bosma W, Cannon J, Playoust C. The MAGMA algebra system. I: The user language. *J Symbolic Comput* 1997; 24: 235-265.
- [4] Jones JP, Kiss P. Some congruences concerning second order linear recurrences. *Acta Acad Paedagog Agriensis Sect Mat (NS)* 1997; 24: 29-33.
- [5] Jones JP. Representation of solutions of Pell equations using Lucas sequences. *Acta Acad Paedagog Agriensis Sect Mat (NS)* 2003; 30: 75-86.
- [6] Keskin R, Demirtürk B. Solutions of some Diophantine equations using generalized Fibonacci and Lucas sequences. *Ars Combin* 2013; 11: 161-179.
- [7] McDaniel WL. The g.c.d. in Lucas sequences and Lehmer number sequences. *Fibonacci Quart* 1991; 29: 24-30.
- [8] Ribenboim P. *My Numbers, My Friends*. New York, NY, USA: Springer-Verlag, 2000.
- [9] Ribenboim P, McDaniel WL. The square terms in Lucas sequences. *J Number Theory* 1996; 58: 104-123.
- [10] Ribenboim P, McDaniel WL. Squares in Lucas sequences having an even first parameter. *Colloq Math* 1998; 78: 29-34.
- [11] Ribenboim P, McDaniel WL. On Lucas sequence terms of the form kx^2 . *Number Theory: proceedings of the Turku symposium on Number Theory in memory of Kustaa Inkeri (Turku, 1999)*, Berlin, Germany: de Gruyter, 2001, pp. 293-303.
- [12] Şiar Z, Keskin R. Some new identities concerning generalized Fibonacci and Lucas numbers. *Hacet J Math Stat* 2013; 42: 211-222.